Name: Date:

Teacher: Class:

Multiplication 401

Tongue Twister: Old oily Ollie oils old oily autos.

Multiply these numbers.

L 12x6= 18.10x6=__ 3 10x6=
2 3x@= 19 11x6= 3% 3x6=
3. 9gx6= 0. 9x6= I Bex6=
4. 11 x6 = 2l. 7 x6 = 3B 2xp =
5. 5 x6= 2. 5x@= 3. 4xp6 =
6. Ox@E= 23. 11 %x6= 0. 10x 6 =
T 4x6= 4. 1x6= a7 x6=
8 8x6= > 6x6=_ = % b5x6=
9% Bx6= % 3x6= % 3x6=
10. §x@= 2. 12 x 6 = 4. 4 x6=
1. 11 x6 = 28. 9gx@= 45 10x6 =
12. 2 x 6= 2. 5x6= 4. 11 x6=
13. 2x@= 3. 2x6= 4. 9 x 6=
14. 8§ x@G= 3. 4 x6= 8. 5 x6=
15 3x6= 32. 12 x6 = 49 10x6 =
6. 7x6 = 38. 3x6= 0. 2x6=
7. §x 6 = 4. 8x6 =
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Answer Key

Date:

Teacher:

Class:

Multiplication 401

Tongue Twister: Old oily Ollie oils old oily autos.

Multiply these numbers.

L 12x6=72 18 10x6 =60 3. 10 x6 =60
2 3x6=18 19011 x6 =66 3. 3x6=18
3 9x6=54 20. 9 x6=>54 3. 6x6=36
4 11x6=66 2. 7 x6 =42 8 2x6=12
> 5x6=30 22 5x6 =230 3% 4x6=24
6 9x6=054 23 11 x6 =66 40- 10 x6 = 60
T 4x6=24 4. 1x6=26 AL 7 x6 =42
8 8 x6=48 2. 6 x6=36 42 5x6=230
% 6x6=236 6. 3x6=18 43 3x6=18
10. 8 x6=48 21. 12x6=72 4. 4 x6=24
1. 11 x6 =66 8. 9x6=054 4. 10 x6 = 60
2. 2x6=12 29 5 x6 =230 4. 11 x6 = 66
13- 2x6=12 3. 2x6=12 4. 9x6=54
14 8x6=48 3. 4x6=24 48 5x6=230
15 3x6=18 82. 12x6=172 499 10 x6 = 60
16 7 x6=42 38 3x6=18 0. 2x6=12
17 6x6=36 3. 8x6=48
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